1S09001:2000 C I‘I"" IJ =47

CHUANGYI PNEUMATIC

1S06431 Rk S FLEXiZ it 4

ISO6431 Standard Cylinder Joint Accessory

Y#K Tie-in NO | ¥k Tie-in NE
ND N
I'-NP— NF | NG NH
S LT & e 1 /
SENNE - . WL T4
= L1 / z
$NC
A
NH (
\

Bff//s ?miol NA NC ND NE NG NH NM NP NQ PA PB
32 19 10 40 52 20 M10 X 1.25 10 20 52 26.2 20
40 25.4 12 48 67 20 M12 X 1.25 12 24 62 32.8 26.5
50 32 16 64 89 23 M1B X 15 16 32 83 39.3 33
63 32 16 64 89 23 M16 % 15 16 32 83 39.3 33
80 44.4 20 80 12 30 M20 X 15 20 40 105 53.3 45
100 44.4 20 80 12 30 M20 X 15 20 40 105 53.3 45
125 55 30 110 155 56 M27 X 2.0 30 54 148 64 55.6
160 70 35 144 201 72 M36 X 2.0 35 72 191 80 70.6
200 70 35 144 201 72 M36 X 2.0 3 72 101 80 70.6

ZEEL  Float Joint BfrIf/ /S'ﬁiol MA| MB| MC| MD | ME | MF MG MH M
M MH MG 32 73 | 20 6 45 8 26 | MI0%125 | 12 | M10X1.25
‘\ 40 77 24 7 46 7 26 MI2X125 | 12 | M12X1.25
AL 50 106 | 32 8 62 12 34 M1B X 15 19 | MIBX15
J g : - 63 106 | 32 8 62 12 34 M16 % 15 19 | Mi6X15
LM_Q . 80 122 | 40 10 | 68 14 | 4 M20 X 15 19 | M0X15
100 122 | 40 10 | 68 14 | 4 M20 X 15 19 | M0X15
MB MD ME 125 147 | 54 | 135 | 77 16 | 40 M27 X 2.0 24 | Marx20
MA 160 251 | 72 18 | 161 | 18 78 M36 % 2.0 36 | M3BX20
200 251 | 72 18 | 161 | 18 78 M36 X 2.0 36 | M36X20
BREL Fisheve Joint Bfﬁéﬁiol PA PB PC PD PE PF PG PH
) 32 14 28 10 15 20 43 57 | M10X 125
L 40 16 32 12 17 22 50 66 | M12X 125
7] — 50 21 42 16 22 28 64 85 M16 X 1.5
@ “ ¥, = 63 21 42 16 22 28 64 85 M16 X 1.5
\r/ i 80 25 50 20 26 33 77 102 | M20%15
. i 100 25 50 20 26 33 77 102 | M20X15
. 125 37 70 30 36 51 110 145 | M27%20
PG 160 43 80 35 41 56 125 165 | M36% 2.0
200 43 50 35 a1 56 125 165 | M36% 2.0

0000000200000 035P0 .p6s 32 2005-12-22, 12:14





